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Note: You can use polynomial long division to divide a polynomial of any degree.
Example 1: Divide (6x° +5x" +x—3)+(2x—3)
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You Try! Divi (3x" +9x" +8x+4) = (x” +2)
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ANSWER = X2+ 3X+/

. Write the known zero in the box

. List out the coefficients

3. Bring down the 1% coefficient

. Mulfiply the 13 coefficient by the Dox

number
. Write the product under the 2n coefficient

5
6. Add down
7
8

. Repeat
_ Use the final numbers to write polynomial

You Try! Divide (x° —7x" —7x+20)+(x+4)
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" Example 2: Divide (x' +27)+(x+3)
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You Try! Divide (x* +2x* —20) +(x-2)
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